

$$\lim_{x \rightarrow 2} \frac{x^2 - 8}{x^2 + ax + b} = -\infty \rightarrow \lim_{x \rightarrow 2} \frac{x^2 + ax + b}{x^2 + ax + b} = 0^+$$

$$x^2 + ax + b = (x - 2)^2 \rightarrow x^2 + ax + b = x^2 - 4x + 4$$

$$a = -4$$

$$b = 4 \rightarrow a + b = 0$$

$$\lim_{x \rightarrow \sqrt[3]{4}} \frac{x}{x^2 + ax + b} = +\infty \rightarrow \lim_{x \rightarrow \sqrt[3]{4}} \frac{x^2 + ax + b}{x^2 + ax + b} = 0^+$$

$$x^2 + ax + b = (x - \sqrt[3]{4})^2$$

$$x^2 + ax + b = x^2 - 2\sqrt[3]{4}x + \sqrt[3]{16} \rightarrow a = -2\sqrt[3]{4} \quad b = \sqrt[3]{16}$$

$$\left[\frac{b}{a}\right] = \left[\frac{\sqrt[3]{16}}{-2\sqrt[3]{4}}\right] = -1$$

$$\lim_{x \rightarrow \left(\frac{1}{\sqrt{e}}\right)^+} \frac{[-x] + a}{\left|\frac{\sqrt{e}}{x} + a\right| + a} = -\infty \rightarrow \lim_{x \rightarrow \left(\frac{1}{\sqrt{e}}\right)^+} \frac{a - 1}{\left|\frac{1}{\sqrt{e}} + a\right| + a} = -\infty, \quad \left|\frac{1}{\sqrt{e}} + a\right| + a = 0$$

$$\text{I) } \frac{1}{\sqrt{e}} + a + a = 0 \quad \text{و } a = -\frac{1}{\sqrt{e}}$$

$$\lim_{x \rightarrow \left(\frac{1}{\sqrt{e}}\right)^+} \frac{-\frac{1}{\sqrt{e}}}{0^+} = -\infty \rightarrow [a] = -1$$

$$\text{II) } -\frac{1}{\sqrt{e}} - a + a = 0 \quad \text{و } a = -\frac{1}{\sqrt{e}}$$

$$\lim_{x \rightarrow \left(-\frac{1}{\sqrt{e}}\right)^+} \frac{14x - \left[-\frac{1}{x^2}\right]}{x^2x + \left[\frac{1}{x^2}\right]} = \frac{14x - [-1^-]}{x^2x + [1^+]} = \frac{14x - (-1)}{x^2x + 1} \quad \begin{matrix} x > -\frac{1}{\sqrt{e}} \\ x^2 < \frac{1}{e} \\ \frac{1}{x^2} > e \end{matrix}$$

$$\frac{14x + 1}{x^2x + 1} \rightarrow \lim_{x \rightarrow \left(-\frac{1}{\sqrt{e}}\right)^+} \frac{14x + 1}{x^2x + 1} = \frac{+1}{0^+} = +\infty$$

$$\lim_{x \rightarrow 2^+} \frac{x^2 - 4}{x^2 - [x^2]} = \frac{x^2 - 4}{x^2 - 4} = \frac{(x - 2)(x + 2)}{(x - 2)(x^2 + 2x + 4)} = \frac{1}{12}$$

$$\lim_{x \rightarrow 2^+} \frac{x^2 - 4}{x^2 - [x^2]} = \frac{1}{12}$$

$$\lim_{x \rightarrow -1} \frac{x^4 + 10x + 17}{17 + 4\sqrt[3]{x}} = \frac{(x+7)(x+1)}{4(1+\sqrt[3]{x})}$$

$$= \frac{(x+7)(\sqrt[3]{x^3} - 1\sqrt[3]{x} + 1)(\sqrt[3]{x} + 1)}{4 \times (\sqrt[3]{x} + 1)} = \frac{(-4)(17)}{4} = -17$$

$$\lim_{x \rightarrow 0^-} \frac{\sqrt{r+x} - \sqrt{r-x}}{\sqrt{1-\cos x}} \quad \cos x \sim 1 - \frac{x^2}{2}$$

$$\lim_{x \rightarrow 0} \frac{K + \cos(\sqrt{a}x)}{Kx^r} = r \quad \cos x \sim 1 - \frac{x^2}{2}$$

$$= \frac{K + (1 - \frac{ax^2}{2})}{Kx^r} = r \quad \div, \text{H.O.P.} = \frac{-ax}{rKx} = -\frac{a}{rK} = r$$

$$K+1=0 \rightarrow K=-1 \quad a = -9K = 9 \quad \frac{a}{K} = -9$$

$$\lim_{x \rightarrow a^+} \frac{\sqrt{x-3a} + \sqrt{x} - \sqrt{3a}}{\sqrt{x-3a} \times \sqrt{x+3a}} = \frac{\sqrt{x-3a}}{\sqrt{x-3a} \times \sqrt{x+3a}} + \frac{\sqrt{x} - \sqrt{3a}}{\sqrt{x-3a} \times \sqrt{x+3a}}$$

$$= \frac{1}{\sqrt{x+3a}} + \frac{\sqrt{x}(\sqrt{x-3a})}{(\sqrt{x-3a} \times \sqrt{x+3a})(\sqrt{x} + \sqrt{3a})} = \frac{1}{\sqrt{3a}} = \sqrt{\frac{1}{3a}} = \sqrt{\frac{1}{3a}}$$

$$\lim_{x \rightarrow (-1)} \frac{1 - K[x]}{x^r - 1} = -\infty$$

$K > -1$ $K < -\frac{1}{r} \rightarrow -1 < K < -\frac{1}{r}$

$-1 < K < -\frac{1}{r}$ $-1 < 0 < K < 0$

$x < 0$ $y < 0$

نقاط محور، نكر "لا صيد" و"اتق" ان.